

AQA June 10 CI 2x + 3y = 14 3y = 14 - 2x $3 \cdot \frac{14}{3} - \frac{2}{3}x = 7 m = -\frac{2}{3}$ la. D(3,7) $DC // AB = 3 m of <math>DC = -\frac{2}{3}$ lb: $y - 7 = -\frac{2}{3}(x - 3)$ 3y - 21 = -2x + 63y = 27 - 2xAD L & AB => lbii AD : 3/2 $y - 7 = \frac{3}{2}(x - 3)$ 2y - 14 = 3x - 9 3x - 2y + 5 = 0 lc. 5y - x = 6 = 3x = 5y - 62x + 3y = 14 5ub @ into @' 2(5y - 6) + 3y = 140 10y -12 + 3y = 14 13y 26 2 sub y=2 "into O' X= 5(2) -6 = 4 :. B (4,2)

Maths Made Easy C Complete Tuition Ltd 2017

۰.

19

$$2a, (3 - \sqrt{5})^{2} + 9 - 6\sqrt{5} + 5$$

$$: 14 - 6\sqrt{5}$$

$$2b, \frac{(3 - \sqrt{5})^{2}}{1 + \sqrt{5}} + \frac{14 - 6\sqrt{5}}{1 + \sqrt{5}} + (1 - \sqrt{5})$$

$$\frac{(14 + 6\sqrt{5})(1 - \sqrt{5})}{(1 + \sqrt{5})(1 - \sqrt{5})} + \frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{(14 - 16\sqrt{5})(1 - \sqrt{5})}{(1 + \sqrt{5})(1 - \sqrt{5})} + \frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{14 - 16\sqrt{5} - 6\sqrt{5} + 6(5)}{1 - 5}$$

$$\frac{14 - 16\sqrt{5} - 7}{1 - 5}$$

$$\frac{14 - 20\sqrt{5}}{1 - 5}$$

$$\frac{14 - 20\sqrt$$

$$free: \frac{7}{75} = \frac{7}{75} = \frac{7}{16} + \frac{18}{16} = \frac{7}{75} = \frac{7}{16} + \frac{18}{16} = \frac{7}{16} = \frac$$

Maths Made Easy © Complete Tuition Ltd 2017

Lat.
A of rectangle =
$$9x^2 = 18$$

Shadud Area = Area under Curve - Rectangle -
= $18 - \frac{42}{5}$
= $\frac{90}{5} - \frac{42}{5}$
= $\frac{90}{5} - \frac{42}{5}$
= $\frac{90}{5} - \frac{42}{5}$
= $\frac{18}{5} - \frac{42}{5}$
= $\frac{4}{5}$
Lue
 $y = x^4 - 8x + 9$
= $A(1,2)$
 $\frac{dy}{dx} = 4x^3 - 8$
= $A, x = 1, \frac{dy}{dx} + 4(1)^3 - 3$
= -4
Lue
 $y = 2 = -4x + 44$
 $y = -4x + 46$
Sa.
C (-5,6) $F = 5$
(x = 5)² + (y = 6)² = 25
Sb.
x = -2 · y = 2
(-2+5)² + (2-6)⁴ = 25
3² + (-4)² · 25
3² + (-4)² · 25
3² + (-4)² · 25
- 4 · 16 · 25 · · · P lues on circle

Maths Made Easy © Complete Tuition Ltd 2017

$$\begin{aligned} b_{2} &= c(-5,L) \quad P(-2,2) \\ m = e_{2}^{n} = c_{1}^{n} = \frac{b-2}{-5-2} = -\frac{u}{3} \\ c_{1}^{n} = \frac{b}{3} = c_{1}^{n} = \frac{b-2}{-5-2} = -\frac{u}{3} \\ y - 2 = -\frac{u}{3} (x - 2) \\ 3y - 6 = -ux - 8 \\ ux + 3y + 2 + 0 \\ f_{1}^{n} = \frac{5}{2} \quad (half ble radius) \\ PO = \sqrt{(2-v)^{2} + (2-v)^{2}} \\ &= \sqrt{8} \\ \sqrt{8} > 5/2 = 2 P \text{ is closer } t_{n} \text{ m} \end{aligned}$$

$$\begin{aligned} b_{n} &= \frac{b}{2} \\ f_{1}^{n} = \sqrt{8} \\ \sqrt{8} > 5/2 = 2 P \text{ is closer } t_{n} \text{ m} \end{aligned}$$

$$\begin{aligned} b_{n} &= \frac{b}{2} \\ f_{1}^{n} = \sqrt{8} \\ \sqrt{8} > 5/2 = 2 P \text{ is closer } t_{n} \text{ m} \end{aligned}$$

$$\begin{aligned} b_{n} &= \frac{b}{2} \\ f_{1}^{n} = \sqrt{8} \\ \sqrt{8} > \frac{b}{2} &= \frac{1}{2} (3x \cdot u_{2}) = 6x^{2} \\ SR = 2(u) + 3xy + uxy + 5xy \\ &= 12x^{2} + 12xy \\ 12x^{2} + 12xy \\ 12x^{2} + 12xy \\ 12x^{2} + 12xy \\ xy + x^{2} - 12 \end{aligned}$$

$$\begin{aligned} b_{n} &= \frac{1}{2} (3x + u_{2}) + y \\ &= \frac{1}{2} (3x - \frac{1}{2} - \frac{x^{2}}{x} \end{aligned}$$

7b.
$$(2k-1)x^{2} + (k+1)x + k = 0$$

real roots $\langle \rangle b^{2} - 4ac \forall o$
 $(k+1)^{2} - 4(2k-1)(k) \forall 0$
 $k^{2} + 2k + 1 - 3k^{2} + 4k \forall 0$
 $7k^{2} - 6k - 1 \leq 0$
7b. $(7k + 1)(k - 1) \leq 0$
 $c.v.s \quad k=1 \quad or \quad -1/7$
 $-\frac{1}{7} \leq k \leq 1$

•